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According to the discussion in the RAN2#105bis meeting [1], RAN2 made the following agreements to support periodic traffics:
	R2 assumes that the maximum number of active SPS configurations for a given BWP of a serving cell in the specification is 8 or 16 (FFS).
R2 assumes short SPS/CG periodicities and/or multiple SPS/CG configurations and/or combination thereof could be used to mitigate the periodicity misalignment between the TSN periodicity and CG/SPS periodicity. Other solutions not precluded, e.g. to address resource consumption. 
Will support “short” SPS periodicities, at least down to 0.5ms
Ask R1 on feasibility, and additionally the feasibility to go down to even lower values, e.g. 2 symb.  
R2 assumes that activation/deactivation is done by DCI. 
RAN1 should address activation/deactivation DCIs related with configured grant Type 2 and SPS in the case of multiple configurations
When multiple UL CG or DL SPS configurations is configured, an offset for each configuration is needed for the calculation of the HARQ process ID


In this contribution, we discuss the SPC/CG configuration issue when a short-interval traffic is overlapped with a long-interval traffic.
Discussion
Partial overlapping traffic pattern


Figure 1: Partial overlapping traffic
The TSN UE works a switch which could serve several periodic traffics at the same time. According to the figure illustrated above, Traffic_1 has a periodicity of 1ms, and Traffic_2 has a periodicity of 10ms. Then the packets of Traffic_1 and Traffic_2 could arrive at the same time every 10ms. Thus the network should be able to configure SPS/CG resources as given above (e.g. SPS/CG_1 and SPS/CG_2). However the current SPS/CG can only have one resource allocation and one HARQ process for each transmission interval. Then the SPS/CG_2 (e.g. 9 slots allocation per interval) cannot be configured. According to the RAN2#105bis meeting assumption that the network would need to configure multiple SPS/CG configuration. This means that the example given in Figure 1 would need 10 active SPS/CG configurations (i.e. each configuration with 1ms interval). If the periodicity of Traffic_2 increases to 20ms, the network would need to configure 20 active SPS/CG configurations.
Observation 1: The current SPS/CG can only have one resource allocation and one HARQ process for each transmission interval.
Observation 2: Due to the partial overlapping of periodic traffics, the number of multiple active SPS/CG configurations could increase dramatically, even above the maximum number of active SPS/CG configuration which can be configured.
To resolve this issue, we consider that the network can configure more than one slots/resources per SPS/CG interval. Then for the above case, the network only needs to configure two active SPS/CG configurations. This solution is different from the repetition in the SPS/CG, as this solution would require different slots transmitting different MAC PDU(s).
Proposal: One SPS/CG interval can include more than one resource/slot allocations.
Conclusions
Based on the analysis given above, we have the following Proposals and Observations：
Observation 1: The current SPS/CG can only have one resource allocation and one HARQ process for each transmission interval.
Observation 2: Due to the partial overlapping of periodic traffics, the number of multiple active SPS/CG configurations could increase dramatically, even above the maximum number of active SPS/CG configuration which can be configured.
Proposal: One SPS/CG interval can include more than one resource/slot allocations.
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